At 2 B <

(1) (2) (3) (4) (5) (6) (7) (8) (9) (10) (11)
HVEHE B FHER O FTE KO FeHER O FEM D | FEUER O P2 o%i:5:1110)) FeHER o JE0 o o P2 o%i:501110)) HUE oW T | MR OSET O | IR D
MR N SRR 1FHA— | Hug V2N FIROBN | # A o B W FlT TR T8 3% DIKE, HAM | o Bl | AR
MYy | NELESY DR FERERR S VR K | B & OBELOIRYL | F OfiES Ol
DA B O EEAi DR [RCEELED
(M) (nt)
2 il FE FEDIEF). BHELR | R L 6m | KE 2 [€7D)
RKIRKHF10235%1 30, 100 466 1.5:1 BIVDHEFIZIT W EE | 1=
£ sk Skm| (40, 200)
(B -1 LS2
i Sk FE FEEOIF2, ML LS | EAERE i (#8)
JNFTET 8 4 9 37 3 30, 600 165 1.2:1 N PR ik iiE 1 HE
3.8km| (60, 200)
B - 2 w2
B Sk YA e FTINBEOEEENZ V| K .2m | KB A (#8)
AEET4 TH198%64 38, 200 219 1:1 [EE Y % ORISR | fiE 1{EE
Tk 1. 6km{ (60, 200)
(B - 3 w2
B Sk EE TNREOEEZENZ OV | g 4m [ KB HESE (#8)
FFHET2 9 47 54+ 22, 400 274 1:1.2 (NBlRAYEY= 263 iikin A
250m| (60, 200)
) - 4 Wi
i Sk e FTHBEOEENEDI | & . Bm | K [ (&)
FBFET2 1 7% 1 9 33, 700 198 1:1.5 SRR L LT PR | 1
£ Hi Tk 2. 7km| (60, 200)
(B -5 W2
i Sk FE TNRBOEENRZ O F | R RAERE i (#8)
e/ 2 4 7 0% 344 36, 300 132 1:1.5 A IR miE 1EE
Tk 1. 3km{ (60, 200)
(B -6 W2
B Sk FE F/NRBOEEERZ W | b Clm | ZK0E 1 €D)
FEEr3 11 3%2 35, 200 211 1:1 TRTE(E £ Hulsk A 1{ERE
Tk 2. 4km| (60, 200)
B -7 w2
B Sk EE THEEZEEN S VE | | CIm [ KOE A (#8)
=FET2TH1131-1133%4 11, 600 1034 1:1.2 FAE T I HIE
i 2.8km| (60, 200)
(B - 8 W1




At 2 B <

(1) (2) (3) (4) (5) (6) (7) (8) (9) (10) (11)
HVEHE B FHER O FTE KO FeHER O FEM D | FEUER O P2 o%i:5:1110)) FeHER o JE0 o o P2 o%i:501110)) HUE oW T | MR OSET O | IR D
L AONNEE SR ST 1FHA— | Hug JEAR FIHOHM [ F H o B W FlT TR T8 3% DRIE, HAME | o FFEARA WM | BT RS
MYy | NELESY DAL FMEER L OVEK | B & DEEEORIL | F DML Ol
DA B O EEAi DR [RCEELED
(M) (nf)
2 i BT | IEA /L. NeIEREDS | 36m | KE 2 (#8)
TEZHET1 0% 2 1 93, 400 71 1:1.2 B SERAT O ARG | R A [GES
Mk Tk 260m| (80, 400)
(B 5- 1 RC4 HERS
Bk k1 REETE )i [ NEEC NS A 14. 2m | /KJE (A== (#8)
WFETS TH27 7% 24 48, 500 1304 1:1 DI P SRR P S IR | [EE TP
Tk 330m{ (80, 200)
(B 5- 2 S2
BT i A KEBE %, =X, | 6m | /K3E A (#6)
BHARET 2 TH 2 7 1 &5+ 25, 000 1415 1:1.5 S EAEANRIE T 2T MR | e #T
e 3.3km| (60, 200)
() 5- 3 S1




